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REHE  FR28FE1081H (1) ~FR28%E10831H (B) (BAfT : A 9blb/kg)
=1 — = o ®RER X BHRRESET
=o yalb sy mB FREHE (108) tymh134+137 (b994136+137)
[EES 7 AINTE BT =FEHET) I | 4HCX) NS 8.2
2|HE H7 a8)lm 11H (N) ESE 9.1
FIESES ARF+ LT E BT 2 HEF | 198 (k) A& 13.7
AEES ARF+ LT E BT 2 HEF | 198 (k) A& 8.7
HESES ARF+ LT E BT 2 HEF | 198 (k) A& 11.9
HEES ARF+ BB LT AHRET 24H(8) A& 8.3
HEES ARF+ EBLUHEARTEHEE | 26H (7k) A& 14.8
8|5 ARF+ A== 3H(8) A& 8.9
CEES HRF+ I IGE=s i 12H (k) NS 8.5
NESES ARF+ LT AT SR 14H (&) A& 7.9
(HEES ARF+ = 13H(R) T 10.1
[AEES ARF+ HA™ 4B (N) T 6.3
[EIEES ARF+ HA™ 208 (R) T 7.7
14|553% ARF+ BE™ 6H (K) A& 8.3
[HEES FrRY EBLLI T AHIET 27H (R) T 10.2
16|55 F Y LU =#EEEAET)IIEH | 5H(OK) A& 11.5
HEES FrRY ERLL T =F=HA]/ITH | 28H (&) T 10.4
[BEES aNVF 8L Z SR B 4B (N) T 12.0
19|53 avVY I BB LT AHRET 25H (N) ESEE 9.2
P EEES vV F ag)llm 17H(B) A& 9.3
Py EES HYYALE BLUhmEENZFE [ 2TH(K) T 6.5
22|FF 3% HYIYTE BB LT AHRET 3H(B) T 10.2
23| BF5 HYUYAE BB LT AHRET 148 (£) IS 11.1
AEES HYUYAE BB LT AHRET 148 (£) ISR 8.6
25|85 HYUYAE BB LT AHRET 21H(2) ISR 7.3
M EES HYUYAE BB LT AHRET 25H (N) IS 8.5
Y EES HYYAE B E A HBTERER | 268 (7K) ISR 9.1
L EES HYIYTE ELHHNETER [ 20H0CK) T 6.7
29| HYIYTE B AT IE S 3H(H) T 6.4
B ESES HYIYTE B AT IE S 3H(B) NS 5.8
Y ESES HYUYAE B LhEs RiE 18H (N) EN R 9.6
32| Fp5 HYIYAE EBLLI T 5 A0 HH] 13H (K) NS 6.8
33|83 HYYME 8L HANERET 25H (N) IS 5.3
A ESES HYIYAE EBLLI T 5 A0 HE] 28H (£) NS 5.7
35| Fp5 HYIYAE LT HMAE 52 | 28H (%) & 6.5
36|F95 HYIYAE 8L =FEHAT/IIH | 28H (&) NS 11.0
Ry ESES HYIYAE a8)lm 11H(KN) NS 6.2
38| E¥3 HYIYAE N N 20H (R) IS 7.8
39|53 HYIYAE mE™ 6H () IS 11.2
MESES Yh1E BT E BT S HEF | 265 (k) A& 6.3
INIEES Hr1E BB LT AT 18H (N) NS 7.7
IV ES Hr1E BB LT AT 24H (8) NS 8.5
43|83 Hr1E BB LT AT 27H (K) NS 9.2
M ESES Yh1E LU =1EHET)I[H | 4H(N) A& 9.7
45|H 52 Yh1E RE™ 6H () AR 10.7
M EES Yr1E A= 20H () AR 9.6
NEES PR LU =12HETHIL | TH(E) AR 7.2
R ESES JvHAE EBLUHEAHTEHEE | 18H (N) AR 9.0
I EES I AM1E BB LT T 28H (£) NS 7.8
I EEES I AM1E BB LT T 28H (£) & 7.4
Sl EEES I AM1E a8)lm 25H(N) & 7.3
S ES I AM1E HA™ 58 (7K) NS 7.2
53| Fp3 I AM1E A= 17H(B) & 5.9
AEES v A4 E (Z0) |EBILTHFRHE] 3H(H) & 11.9
55|53 ERi=P] 8L AHRET 27H (K) AR 8.6
AEES ERt=P] EBLUHEAHTRHER | 26H (7k) AR 14.4
IEES EEf=P BB = HET 27H (K) & 5.7
S EET=P BB T 27H (K) T 7.1
59| 3% EET=P BB HF0EE] 31H(B) T 9.4
[EES EET=P a8a)llm 25H(CN) T 11.2
FIEES 43y () [ESLmSHEE] 27H (K) T 17.4
62| EEES: LT HANEE =2 | 5H0K) T 8.5
63|53 FoTFvH4  [BRLHR AR 25H(CN) & 9.7
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REHM - FR28F10R1H (1) ~F 285108318 (B) (BAfT : A 9blb/kg)
B — o o ®RER X BERRESE
=o yalb sy mB FREHE (108) tymh134+137 (b994136+137)
AEES FOTIOGA | KB 20H (R) ESE 9.7
[HEES K<Yk BB MEEE | 13H (K) A& 9.5
[JJEES EXF BB LT RERL 27H (R) ESE 9.8
FEES EXF LU HANBEE] &2 [ 26H (k) ESE 14.2
68|32 EXxF LU HAEETSE | 268 (7k) A& 13.0
EIEES + R BB LT AHRET 4H (N) A& 12.8
NEES F X BB LT AHRET 11HCN) ESE 11.2
IKEEES + R A= 6H (K) A& 7.8
[AEES ) 31 H AN ] 7TH(®) ESEE 11.3
[EIEES —IY BB LT AHRET 27H (K) ESEE 7.6
[AEES Iy R L =4EHET)IIH | 135 (K) A& 11.0
[HEES NTTA BB LT AHRET 27H (R) ESEE 7.3
IAEES NTTA BB LT RERL 27H (R) ESEE 7.5
[EES Nk BB A ST 5H (k) A& 6.5
[ EES NTTA EBILUHHENETER [ 14H(®) ESEE 15.0
719|553 Nk L LT =#EEET)IIH | 288 (&) A& 9.6
N EES NI A ag)lm 31H(B) ESEE 6.7
YIEES NTTA HA™ 208 (R) ESEE 9.7
A EES NTTA A= 26H (7k) ESEE 7.8
83| B NP EDU B LUTEANBIER [ 20H(K) IS 8.2
FAESES NvLEDY BLUHHANHETSE | 3H(B) A& 6.9
85|¥¥3K NvLEDY EBLUHHANBETSE | 266 (8) A& 6.4
86| Br E—<vv A= 6H (K) IS 14.5
EES J0v3aU—  [BSLLHAHEE] 25H (N) ISR 11.4
R ESES ROoLVYD L =4EHET)IIH | 17H(B) A& 8.9
89| Bre RR— BE™ 6H (K) IS 13.5
ENESES =KV K EBLUHEXILETER | 145 (&) A& 9.9
CHESES il NS BB L mh X 13H (K) ISR 8.8
CAESES —av £81L T HA0 BT 25H () A& 5.8
93| %y —av LU =#EEET)IIE | 115 (X) A& 9.4
EAEES Y h1E B8 HAN B ET 14H (&) A& 4.6
CHEES EPS BB LT AHEET 27TH (R) IS 11.0
FHEES EPS a8)lm 25H (N) IS 8.5
T(E - EDZE|[FHETY B EHANETERIN | 5HGK) 1,100.3 14.7
BIILX - D [7HESY Y (Fn) [BRIUMHENETELL [ 198 (K) 70.7 15.3
CEINERERR A LT E e T 3H(H) 32.5 8.4
100[ILE - TR (755 (7n) [GIIERFEEN 55 (k) 10.3 5.8
0MLE- TR (755 (Zn) [BRLHEER 3H(H) IS 8.0
IANERERR AVEELEC L # D 3H(H) 90.4 9.4
103[LE - EncE 10D BB LT Zh B H] 4H(N) 89.7 13.5
MANERERR AP B L ERT Rl 6H (K) 28.2 8.7
105 - =D CE (1 7Y (Zn) BB LT Zh EH] 13H (K) IS 9.5
106[ILE - TR [1 vy I XY BT HEII =R 3H(H) 27.7 12.1
107|LE - T [1viRy I XY BT HEII =R 6H () 53.0 11.2
108[ILE - TR [1viRy I XY [BILTHHENEIER 3H(H) 21.9 15.4
T09[L0E - =D [fvRvo XY () |BRLLThZREH] 3H(H) 33.9 8.8
T0[LEE « =D CF8 |[vo~mr1oxy @ |BRLLITH 2R @] 3H(B) B 12.7
MLE - E=OCE [DTNZVD |[HMEN G e 3H(A) IS 14.7
M| - EQHE (#0404 XY [HRMEBEAHE 3H(A) IS 10.9
MBILE-F0CH|[FUZF (Zn) [HET 248 (B) IS 8.7
MG[LZE - =D CHF [r7a579evss @ |BBLUTHEREE] 3H(R) AR 1.7
[IHERERRM APPEL: SEEINT 31H(8) 39.4 10.9
IHNERERRMH APPEL: BT ERIIA [ 27HOK) 49.2 14.7
N7UxE-En2E |[oUSS (Zn) [BSLUmSrHEETGE] ] | 268 (8) 33.3 9.3
1M8ILE - EDCFE [/ OAD SEEINT 55 (k) 23.7 17.2
1MILE - EDCFE [/ O0AD BRI i ra BT 7TH(®) 45.7 13.6
IHINERERRM AEEELS SEMA 3H(H) 47.4 12.1
IRINERERRM AEEEL TEBAEN 13H (K) 125.5 11.6
IZINERERRM AEEELS Al EHAY 5H (k) 204.9 20.1
123[LE - EncFE (3957 WhEH 12H (k) 1,281.0 24 4
[PANERERRM AEEELS Rt E] 11H(KN) 713.6 14.6
I NERERRM AEEPEL 8L 6H () 432 .4 17.4
126[lLF - T [TI055 BT E T 14H (&) 188.8 11.8
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BREEHTEZFOMHERERRE GHERLF1—L40) 3/6
REHE  FR28FE1081H (1) ~FR28%E10831H (B) (BAfT : A 9blb/kg)
=1 — = o ®RER X BHRRESET
== AH7>7-3Y mB FREY (108) Y94h134+137 (B794134+137)
RINWLE-E0CFE [J957 BB LT 2N EH] 18H (N) 25.9 10.0
128[lLF - EcFE [J95 5 GRS ) 145 (£) 564.3 17.6
IEINEREI M EEEL) B L2 EETh L 6H (K) 58.4 6.8
130[IUFE - FDC ﬁ 0545 811 s EamT 6H (K) 277.8 15.3
[ INEREI M EEEL 8L P BT AH 14H (&) 987.2 15.5
132|113 - ﬂé@:iﬁ 955 HAN AL =&FH] 145 (£) 912.1 15.9
[EBEINERERM - IEPEL: HA™ 4H(N) 1,908.6 1.4
ENERERM - IEPEL: HA™ 148 (£) 206.6 15.4
EHNERE M- IEPEL: HA™ 148 (£) 604.6 16.1
EANERER M IEPEL: HA™ 58 (k) 2,366.2 18.5
ENERE M- IEPEL: HA™ 58 (k) 9,149.5 20.7
(ERNERE M IEPEL: HA™ 148 (£) 302.0 14.7
139 - D2 |[TI955 (Zn) [ERLHEGER 3H(B) 461.3 16.3
1[I - = ciE (3055 (@) [BRLmEVERN % 3H(B) 108.5 8.3
MWLE - EQciE (3955 (@) [BLmEENSE 4H(N) 118.6 10.2
1WRILE-EQCFE (30545 (zn) |[ERLLTHENETHS | 198 0K) NS 12.7
1WBLE - EciE (3055 (Gn) [HNS 11H(N) 80.0 13.8
MNERERM A EPELC LS 13H (K) 2,034.1 10.0
(NERERRM AP PEPEC R N b 148 (£) 166.7 8.1
1h6[L3E - EDOCEE |05 XY (F) |BRLLTHEEET 13H (K) IS 8.3
LI - EOCEE |59 XxY (&) |BPLUHEvER 5 & 4H(N) 33.7 7.9
TL8[ILE - EDCHE (VU5 I XY (@) | AEm 3H(H) 38.4 14.0
(INERERRH:APEEL: B EANEISFIL [ 258 0CK) 37.6 17.4
(EINMEREDD R AAPEEDS £81L T HA0 BT 21H (&) 40.8 14.1
(HINERERRH:APEEL: ELUmHAMAESE [ 24H(8) 80.0 17.2
(FANERERR:APEP BLUmEEIISE [13HOK) 29.2 17.7
153 - EDFE [T XD a8)llm 7H (&) NS 8.3
154[1L1ZE - T [VETUI XY [HAMER BB 268 (7k) 84.7 16.3
155|113 - =R [OI XD RGN 31H(B) IS 10.9
15613 - =D CHE [ AF YT BRI =1 3H(B) 70.1 1.4
157|113 - TDOCHE [ZF¥e3>57 G BRI ERED AN 3H(B) NS 12.7
158[IZE - ED 38 |[evmy XY (Z) |BRLLTh 2 @] 3H(B) A& 9.4
159 - EDCHE [FS557T ESLLTEREDIA | 26H0K) 25.5 11.8
160[LZE - =D [F555 LB AnE | 26H(B) 33.7 14.6
161ILE - E0CFE[F555 (Zn) [BRLmEREELTA 3H(H) & 11.9
AN e EPEL A EE S N 58 (7%) A& 12.1
163|l3E - EDFE [IXUXFT YT [HRRESBEAH 3H(B) NS 11.2
164[IL13E « EDOCE [I\NIT XY |[HMER B ] 3H(H) & 18.2
165|1L3 - =D [\ a7y XYy (@) |BRLTHE@E] 3H(R) A& 9.8
166|113 - =DOCE |\ FATF B8R e O] 3H(H) 107.6 10.5
167|113 - EOCEH |\ FATF B8R e O] 3H(H) 579.1 11.1
168|LLZE -« TDFE [F1e5=n757 @) |[KBEEEEH] [ 11HCN) NS 13.1
169[LZE «- EDCHE (N1 YT SEMA 3H(H) NS 17.4
MINERER AEEEL: SRERR R 12H (k) 32.9 16.7
MUE - E0ZFE|(~X155 ZLLmAEII =1~ 6H () NS 11.3
AR - IEPEL: BB LT Zh EHT 145 (£) 37.2 11.5
HENERERRM IR EL: BE™ 6H (K) 197.8 13.2
IANERERRM - IEPEL: BE™ 6H (K) 162.1 12.2
IENERERRM IEPEL: B8R e O] 18H (N) NS 17.1
176|3 - EDCFE (= 30H SRRERR R 12H (k) 17.5 12.8
HHNERERRM - IEEPE BUHEXAHATERER] 3H(8) 22.3 12.1
ENERERRM - IEEPE ZLLmAEII =1~ 3H(H) NS 11.2
IEINERERRM - IEEPE BB AT BT A 6H (k) & 8.2
180|32 - EDCFE (S 30A BB\ HAN AT 148 (£) & 11.7
m1Mﬁ-§®:ﬁzﬂxw- SEEINT 27TH (K) 24.0 11.2
18]I - EDFE [ LFH5T SEEINT 31H(8) 42.0 10.7
w3M§-%® ﬁiA#QT(ﬁ) ERRESRFRA 14H (&) 33.0 8.4
184|132 - T [LF55 (Zh) [HERERILIERAT 24H(B) T 10.5
185[111%% - %@:iﬁi LSYFI XTI [RZFBAEN 3H(H) 838.7 10.4
186|L3 - TN [ LSTFI XY [BRLUGFHEETRE] | 248 (8) 4449 18.4
187|EBN3E 7+ 3 INZ RS 26H (7K) T 10.3
188|EBN3E a4 (Z0) WhETH 13H (K) T 7.1
189|EBN3E 53 INZ RS 26H (7K) & 5.7
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RERMA - FR8F1081H () ~Fm28F10831H(AR) (BAfL = A" 9blb/kg)
35 — o o BEH R BERRESE
=o AHF3Y mE FREY (108) 941344137 (b994136+137)
190|758 ES X SRS 3H(B) ESE 7.8
191|5R=E 7TE BLUHERITZHE | 7TH(®) ESE 8.8
192|5R=E 7E BB EHETR 2] [ 208 (OK) ESE 7.6
193|FR=E 1FI0 B Lh Z= 50T B H 4H (N) ESE 9.8
194|RE 1FI0 B =fEHETHIL | 7TH(®) ESE 7.1
[EHEES kS L™ 17H(8) A& 9.3
196| R = hF BLmZEElE/l [218(®) ESE 8.7
197|R=E hF B E AT Z HE [ 198 0k) ESEE 6.5
[ELEES hF BB LT AHEET TH(£) 9.5 7.1
199| R = hF BB LT AHRET 13H (K) ESEE 8.3
200[5R = hF BB LT AHRET 20H (K) ESEE 8.6
201|5R=E kS BB LT AHEET 24H(B8) A& 7.0
202| 5= kS BB LI AHEET 24H(8) 6.8 6.7
203| 5= kS BB LI AHEET 24H(8) A& 9.2
204|R=E hF BB LT AHRET 25H (N) ESEE 8.0
N EES hF BB LT AHRET 25H (N) ESEE 7.8
206| £ = kS BB LT AHEET 28H (&) A& 9.6
EES kS BB LI AHEET 31H(A) A& 5.9
208| &= hF BB LT RERL 27H (K) ESEE 7.0
209|R= hF B LUTh =S XA HET 3H(R) IS 7.1
2108 = hF LIS XA HE] 28H (&) ISR 6.2
EIEES hF B EAHETECW | 185 (N) ISR 7.7
212|R=E hF B EAHITECW | 268 () IS 10.5
213| 8= hF B EXAHEITECRW | 27TH (K) ISR 6.6
214|R=E hF B EXAHEIIECRW | 27TH (K) ISR 5.9
2158 = hF B EXAHIIERER| 5H0K) IS 8.6
216| 8= hF B EXAHITERER| 268 () ISR 7.4
217|R=E RS A== 3H(B) A& 4.9
218| R = hF EIG=E 25H (N) IS 5.8
2198 = hF EILUHHENEIEE [ 18H(N) ISR 6.2
220 8= hF EILHHEABIESR | 206 (K) EN R 6.2
221|8R=E RS LT HEME E175 | 21H(8) A& 5.5
222|R=E hF L HEAE E175 | 28H (&) IS 7.1
223|R=E hF BLUHmENETEE  [17HA) IS 7.1
Y EES hF BLUHmENETEE  [17HA) IS 6.8
225|5R=E RS LT AT IE 1B 27H (K) A& 1.2
226| R = hF L EHATET R A 6H (K) IS 6.8
227|R=E hF LU HEABI#ECHE | 6H(K) IS 8.9
228| 8= hF B L EHA BT [ 28H(2) IS 8.1
229| 8= hF BB LIS 148 (£) IS 8.9
ENEES RS £81L T HF0 BT 14H (%) A& 9.0
231|8R=E RS £81L T HF0 BT 14H (%) A& 4.3
232|R=E RS £81L T HF0 BT 17H(AH) A& 6.9
233|R=E RS £81L T HF0 BT 18H (N) A& 6.2
234[R=E RS ZFLmHAMEETSE | 17H(B) AR 10.5
235[R=E RS LT HFEE/\T B | 28H (&) AR 10.9
236[5R=E RS ELUHHEFEEINTE | 11H(XN) AR 7.6
237|R=E RS LT HEFEEI/\NT B | 25H (N) AR 5.7
238| 8= hF L= X LLH] 118 (N) B 7.6
239 8= h+ LU =FEHETH#LL [ 17H(B) 14.4 8.6
240 =E hF LU =#EHETILO | 27H (&) B 8.9
241[R=E RS =NV 25H () 7.3 6.9
242|RE h+ N /N 198 (7K) e 5.8
243 =E hF e 128 (0K) B 10.8
IAEES hF e 248 (H) B 6.7
245 =E hF e 148 (£) B 7.7
246|R=E hF e 17H(B) B 7.8
INIEES hF e 31H(B) A B 11.3
248|R=E HhUY BB LI AHRET 13H (R) A B 1.4
I EES HhUY LTS A HHT 28H (&) A B 5.7
250 8= HhUY B LT ARET 12H (0K) A B 7.3
2518 = FO4 EIUTHNBIEE | 27TH(K) A B 7.2
252|RE REY BB LI AHRET 18H (N) 10.0 7.6
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REHE  FR28FE1081H (1) ~FR28%E10831H (B) (BAfT : A 9blb/kg)

B — o o ®RER X BERRESE
253|R=E IRES BB LLI i AHIET 31H(B) 82.9 13.1
254| R = IRES ESL LT EHATETHE [ 135 (K) NS 8.9
255|R=E IRES ELLUTHAAHEBTAR | 26H (k) ESE 7.9
256|R=E IRES 3L H AN ] 17H(B) 18.2 10.9
257|R=E 7= ELLrAmEETRE | 19H0K) NS 6.8
258|R=E 1) BT ZEEI | 21H(R) ESE 9.9
259|R=E 1) BRI iR T 11HCN) T 7.4
260| R = 1) BB LT EHASTET 11H (N) ESEE 6.2
261|R=E 1) LU EANETER 3H(B) 29.5 8.7
262|R=E 1) L LT EHANBIER 4B (N) 22.6 9.1
263|R=E 1) BT EHANETER 68 (K) 22.9 10.3
264| R 1) EBIUHENBTNEE | 4H(CK) A& 9.1
265|R=E 27U (Zn) BB LLImh A~ HT 13H (K) 12.5 8.7
266|R=E 27U (Zn) A= 68 (K) 48.6 13.2
267|R=E L= ESLLh = FHET 13H (K) 24.8 10.8
268|R=E gL = 3H(B) NS 10.8
269|R=E 50 BB LI T A HET 148 (£) 12.0 9.7
270|R=E 50 EBLLI T A HET 208 (R) 10.8 9.3
21| R=E 50 I GE=s i 25H (N) 10.6 6.7
212|R=E K>o1) LI 4H (N) 12.3 5.6
23| R=E I\y 7 )LRY — BT ZTEH] 26H (k) T 9.5
274 RE Ny IR — [BRLHZEI4RE [ 198 k) T 9.9
275|R= JRD BB LT AHRET 20H () 13.4 8.7
AEHEES JIL—~1)— BT ZIERT 45 198 (k) A& 10.8
HEES =hYv WEEB = [ H] 18H (N) 26.7 5.6
278|R=E 11X L EER] EFRFS 8| 20H () IS 10.5
279|5R=E a1X EBLUTmEAHIEA| 31H(B) A& 10.9
280|R=E >3 5HE 7H (&) T 11.6
281|R=E >3 BB LT AHRET 11H(X) T 10.5
282| 8= IP2= BB LT AHRET 26H (k) A& 10.9
283 Db g BB LT AT 14H (&) A& 8.8
284 Z DR g HA™ 20H () NS 7.1
285 D fth 1FY0 (HER) |ZAXAT 11H (N) IS 8.3
286]F D fth 1+ 3 (Zn) BB LT AHEET 11H (N) IS 12.1
287|F nfth 1+ 3 (Zn) BB LT AHEET 11H (N) IS 17.2
288| Z nfth 4+ 3 (zn) ELLUTFHEMNETEE | 19H0K) IS 8.8
289 Z nfth 4+ 3 (zn) B AT [ 135 (K) NS 8.1
290] Z D fth 4+ 3 (zn) a8l 13H (K) 26.2 11.6
291 Z b 1473 (%) aglllm 13H (K) IS 8.6
292 Db bR EBLLTE#IDTA | 24H(B) 88.0 5.5
293 Z D fth bR BLLUHERITZHE | 5SHOK) 97.3 5.1
294 Z Dfth bR B ERITZHE [ 21H(2) 108.4 5.3
295 D fth B B E T ZHE [ 2665 (k) 190.9 5.4
296|F Dfth bR BLmERITZHE [ 31H(A) 75.7 5.5
297 b BR BT EABETEHEI | 268 (k) 30.9 8.9
298| Db B+ RS 14H (&) & 7.3
299 Db B+ EBLLITH &< HT 19H (7k) NS 10.9
300]F Dt B+ B 25H(N) & 8.3
301 Zfb HF (gEHE)  |BLUmEANE/NIT [31H(B) NS 6.4
302 Db 57 (5z12) [alllEEalllE] 31H(8) 2,477.5
303[Z b Jo5h (&8) [BILHEE] 3H(H) 156.1 13.3
304 Db do5h (&8) [EILHEE] 17H(B) 123.4 9.3
305]|F Dt do5h (&8) [EILHEE] 17H(B) 134.3 9.3
306]F Dt Jo5h (&8) [BILHEE] 218 (£) & 19.6
307|Zfk Khh BB A~ HT 208 (R) NS 13.2
308]| b BN BLUHERIYA [ 24H(B) 4k L 5.5
309]F Dt BA BT EFEITZHE [ 266 (k) 80.8 5.8
310[Z Dt vv i (N o~u—) BB HAIHET 31H(B) T 9.2
311[Zfb EE BB HF0EE] 25H (N) T 10.7
312[ZfE EE LT =FHEETLO [ 215 (2) T 12.6
313[Z b piN=] BB LT AT 14H (&) A& 8.8
314]Z Dfth WAZER (3v55) |[GINERA]TET 31H(B) 28.7 7.9
315 Dt F>54 (88) BB A 27TH(R) & 10.3

X RHRFEREE “TRE” ERRo

SEFEEM @ BT



BRHEBIREORHERERR CGEREALF1—L41) 6/6
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3162 DT NF=Y G 2B (H) TR x:
37| Z Dt NFZY EBLLITH PR EHET 25H (X) AR 4.9
3182 DTt NF=Y A= %0 25H(X) TR 5.9
319 Z Dfth 7% (838) BB LLI & REHT 13H (K) AR 7.6
320 Ofte ¥ 2L — WA [ 176 (3) TR 8.3
2A[Z 0Tt =T ERLLITATRE] T8E (K] 835 2.6
220t LA B E A DE STEE | 180 (X) TR 1.0
323[Z Dt LA BRI EHASTETEACH | 6H (K) AR 9.2
324]Z Dt EieE BRI Z R 2 HEF | 21H (£) AR 1.2
325[H28FEXK K (ZEXK) EZHm 21H(2) AR 8.7
6HBEER [ (oK) [BIIHEAEE  [210&) TR 8.7
2TH2BEER K (oK) [ENLmEAME | SHOK) TR 5.3
SBHBEER [ (ZF)  [BIHOAEE  [1H00 TR 5.9
SOHBEER [ (oK) [BHOAEE  [215(&) TR B.1
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331[H28FEXK K (BXK) BRI ERATET AU [ 118 (X AR 1.7
332[H28FEXK K (BXK) BT HANEETSE [ 18H (X) AR 7.0
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335|H2TERARIER K (BXK) =R 268 (k) AR 8.8
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